
 

7/22/2021    www.lankota.com  |  Lankota Inc. John Deere and JD are registered trademarks of Deere & Company 
  Lankota is a registered trademark of Lankota Group 

Page | 1 

LANPSP830K 

Installation Instructions 
John Deere 600, 700 & C-Series Corn Head Poly Snout Protectors 

 30” Row Spacing ONLY

270 West Park Avenue 

Huron, SD  57350 

866-526-5682 



 

7/22/2021    www.lankota.com  |  Lankota Inc. John Deere and JD are registered trademarks of Deere & Company 
  Lankota is a registered trademark of Lankota Group 

Page | 2 

Parts List 

Part Numbers Description Quantity 
LANPSP800K 600 Series Poly Snout Protector  1 Row Unit 

LANPSP801L Poly Snout Protector – Left Side 1 
LANPSP801R Poly Snout Protector – Right Side 1 

LANPSP603 Steel Shim Plate 4 

LANFH7HH 1/4” x 1.75” SS BHCS 13 

LANPSP600BH Bag of Hardware 1 

 1/4” x 1.25” SS BHCS 13 

 1/4” Washer 13 

 1/4” Nyloc Nut 13 

 #14 x 3/4" SS Screw 19 

LANPSP801L & LANPSP801R (1 each per row) LANPSP603 (4 per row) 

                              LANPSP600BH (1 per row)                                                             LANFH7HH (13) 



 

7/22/2021    www.lankota.com  |  Lankota Inc. John Deere and JD are registered trademarks of Deere & Company 
  Lankota is a registered trademark of Lankota Group 

Page | 3 

Installation 

1. Remove all black plastic wear plates from all snouts. 

2. Install a snout protector (LANPSP801R) and two shims (LANPSP803) to 
the right side of each snout using (6) 1/4” x 1.25” bolts, washers & nyloc 
nuts and (9) #14 x 3/4" screws per side. 

3. Repeat for left side of the snouts using (LANPSP801L) snout protectors. 

 

Notes: 
• Part numbers are etched into the protectors. 
• The 1/4” x 1.25” bolts and LANPSP603 shims replace the black wear 

plates and hardware that are removed. 
• 1/4” x 1.75” SS button head bolts (LANFH7HH) are provided if you wish 

to drill out all the holes and fasten with nuts on the inside. 

For further technical information, contact 

Lankota Inc. at: 1-866-526-5682  


